VACUUM CUP HOLDERS

NACUFORCE

The Vacuforce cup holders, often referred to as level
compensators, are normally used on multiple vacuum cup
systems such as sheet or plate handling where the height of the
load varies during production cycles. These cup holders have
been developed with the best materials to offer maximum life in
the toughest applications.

Materials

* Hard anodized aluminum thread fittings

* Nickel Plated bushings and lock nuts

* Hard anodized aluminum or chrome plated steel rods

VFLC] EX NR 18
Sprlng Type Rotatmg Cup Thread | Buffer Stroke

Bulkhead Thread | Bulkhead Length

External Non-Rotating
IN | Internal Rotating 18 G1/8
14 G1/4
38 | G3/8
12 G1/2

Non-Rotating Models Rotating Models

Non-Rotating models
models are used in
applications where a single
unit is being used for pick
and place. They are also
suitable for connection to a
square or oval suction cup
where orientation of the
cup and part must remain
constant.

set screw

channel

Vacuforce Edition 5.2 Page 1.117



YAcUFORCE’

VFLCINM515M10X23 i -

>
=

WL

S S e~ = R

() —_—
e L Bl =
~

M1Dx1/| ] 65 E 4

I1 15 Stroke

R

17

| l i J
M5
A—-I -

LI

Vacuforce Edition 5.2 Page 1.118



|
ﬁCUFORCE

G1/8
VFLCIN1820M16X40 A o

T

Al
Hi
m
7

/
.lg// /Y /M/

NN

vy

G1/8

A"'I G1/8

Vacuforce Edition 5.2 Page 1.119



VACUUM CUP HOLDERS G1/8

YAcUFORCE’

A A-A
15 G1/8
VFLCEX1825M16X40 I |

40

|

.
MNAN
e

M16x1

115

15-40

wdTReeooaanm
T soaaooon

el

A'”I - G1/8

G1/8

e

RO 0 0 0 00 00

-

Vacuforce Edition 5.2 Page 1.120



VACUUM CUP HOLDERS G1/8 f o
WVACUFORCE
A-A

G1/8 _

_—

VFLCIN1830M16X49 A_'I
|
I

|

NSNS
e

Vacuforce Edition 5.2 Page 1.121



VACUUM CUP HOLDERS G1/8

®

ﬁCUFORCE

OO0 0 60 0060600000600 06

VFLCEX1850M16X50

JUOUUUTUVYVUOUETOoOUUTUTUL

_E-é
A1\

A-A

G1/8

flicoocecoo00E00REO000O0M

e

VFLCEXNR1850M16X50

_=m_“EE%.“E..j.ﬁ_i_ﬂ. .
1) o

oo o U Uvooroorooo]

sa(uinineiaiayualy

G1/8

A-

Vacuforce Edition 5.2 Page 1.122



®

ﬁCUFORCE

m
=
O
n
14
L
(]
-
O
L
o
-
O
=
-
-
O
<
>

| o T |
53355552333333533}?
_ [ m W i |
Purocoo0000000000000
~ = < i St
T OOV OO0V owooUU ool 1 _
. =1 «
- T OO0 T o0 U UTUoUOToUoToUor] a
— o i g i |
© =
V]
w
[ Vo S O o e © -
— O - ©
o

I
JUILE

M16x1

VFLCEX1875M16X80

1 midau bR

G1/8

VFLCEXNR1875M16X80

Vacuforce Edition 5.2 Page 1.123



m
=
o
n
14
L
o
-]
©)
L
o
-
O
=
-
-
(&)
<
>

®

ﬁCUFORCE

A-A

VOO H O 0 06 6000000060040 /Um

Phroccocococooopo0000d S

VFLCEX18100M16X80

M16x1

JO O UV UV UUOUUUOUYTUTUTL

1

U UOT T oo U T oo UOToT ooy a

o0
==
—
V]

G1/8

VFLCEXNR18100M16X80

Vacuforce Edition 5.2 Page 1.124



®

ﬁCUFORCE

M
=
O
n
14
L
(]
-
O
L
o
-
O
=
-
-
O
<
>

A-A

G1/8

15

VFLCEX1425M16X40

— bl 00000000 e

S

S—— e NN

115

_:_____
_____:_

M1E‘+}t’.‘1

Ceddemfho 0006060/ hem

e O

oo ue oo Bre Ao o o]

— P

VFLCEXNR1425M16X40

Il
il

ll
ll

| I

ﬁ%._,_j.?a_ T

| giluiuiaiuiaiuiny

M16x1

Vacuforce Edition 5.2 Page 1.125



VACUUM CUP HOLDERS G1/4

YAcUFORCE’

M18x1 /

VFLCEXNR1425M18X40
0/
i
Migx1— 9@
S 15 g
o q
11 q
[»
q
[0
[«
s

)

Vacuforce Edition 5.2 Page 1.126



®

ﬁCUFORCE

M
=
O
n
14
L
(]
-
O
L
o
-
O
=
-
-
O
<
>

A-A

0000000060660 000][

Y f

o~
o

G1/8

L%

o
o

o

i ~ S
VT T U TV OV VT T TG

VFLCEX1450M16X60

M16x1

._I
0
-—

36-86

G1/4

A-A

G1/8

SN

U U T UYUoUwRroUTyr

NN

VFLCEXNR1450M16X60

181

36-86

.
G1/4

Vacuforce Edition 5.2 Page 1.127



VACUUM CUP HOLDERS G1/4

YAcUFORCE’

VFLCEX1450M18X60

s ., o
VFLCEXNR1450M18X60 : ) %
| /

| A |

Il
Il

=l

o
N

=

|

ol
I

M18x1

|

|

,l_
RRQLC
e N

PO T o0 U oo UToUUo

181

36-86

0 0
N

~T

e

G1/4

Vacuforce Edition 5.2 Page 1.128



®

ﬁCUFORCE

M
=
O
n
14
L
(]
-
O
L
o
-
O
=
-
-
O
<
>

G1/8

VAOANNRRRARAOLRLLRRARRLLOLEAH ™ T

/_ﬂﬂHQQUGHNNNHNQQQQQQQNQQGVV%L

™ .y

VFLCEX1475M16X80

5-120

4

G1/4

A-A

G1/8

%BBDBBBBBDbbabbaba_aabbhbl/. /FA.J

[T oo o000 0000000000000 oowo /Wak

15+

VFLCEXNR1475M16X80

M16x1

Vacuforce Edition 5.2 Page 1.129



M
=
o
n
14
L
o
-]
O
L
o
-
O
=
-
-
(&)
<
>

WE Y _zaabnaabnaanabubaboaaaaaﬂs_ A_“ ELL %babaababbaabbbabb_aba355.243_ ,W.w

A 5o 00T 00T FTITTT o0 s TooT va_ B < - 5= . aea e m

9 -l o % - m

< 3 - d - iun g

" - [ \sis\alsisle)atsisia\uisis\slsisiatyin|gai e | m

T __,.__..“.,__.%_,__.,“,,___;__,,.__..___,__., i T | =
<

M18x1

ﬁCUFORCE

VFLCEXNR1475M18X80



®

ﬁCUFORCE

" aBaaBBDnBenbaaBaannbbnnbaaeaﬁ-&_ < L EaannbbbabaaBabhabbaaaaaanﬁbb:%la_
m © o W - _
N O %
. 5
- I oS
< <

M
=
O
n
14
L
(]
-
O
L
o
-
O
=
-
-
O
<
>

VFLCEX14100M16X80
VFLCEXNR14100M16X80

Vacuforce Edition 5.2 Page 1.131



M
=
o
n
14
L
o
-]
O
L
o
-
O
=
-
-
(&)
<
>

ﬁCUFORCE

G1/8

uabaaabnbauuaaaaanubabbbaaaanﬂ?

I

a—E—J -

WL

M18x1 /

VFLCEXNR14100M18X80

Feld EBBDDBBDBDBBQBBHBUBBQBBQBEJBUB?
*
—
=
[0} w0 |
(3] ©
)
, et % -l -
w [Le]
~— =r

M18x1/

VFLCEX14100M18X80

Vacuforce Edition 5.2 Page 1.132



¥icurorce
/)

VFLCIN1425M18X42

VFLCIN1450M18X67 A«' A-A

"F‘"'*G
©
s

| v O o |
i

il

Hi'”

Vacuforce Edition 5.2 Page 1.133




VACUUM CUP HOLDERS G3/8

YAcUFORCE’

VFLCEX3825M18X40

VFLCEXNR3825M18X40

==
T 1 E
G
/ T 112 g
M18x1 d
[+
e
4
o
L4
11=ls
IR | cie
-

Vacuforce Edition 5.2 Page 1.134



VACUUM CUP HOLDERS G3/8

WAcUFORCE’

VFLCEX3825M20X40 AA

A«' 5, S8,
1 i
=
[i )
40 E j
_ 15-40

~ G1/8

i

I

A
u
AN

likwe

ieces
[
ey

.’J’bueu\auul“

VFLCEX3850M18X60 A-A

B A

| M-}

—_
=]
[as]

Rﬂ&ﬂﬂﬁ&&mnnnhﬂnmnnl

@hguuwvuwwwuuauoooﬁ

A G3/8 G1/8

Vacuforce Edition 5.2 Page 1.135



2
™
O]
%)
14
Ll
a
-
O
a
o
>
O
=
=)
>
T
<
>

®

ﬁCUFORCE

A-A
G1/8

15

%BDEDBBDBDEDBDB—\DDQ

G1/8

e au-pue gy Euv B RN RN RN ELe BNC ENC RN ENC RN BN aLe )

VFLCEXNR3850M18X60

60

178

36-86

M18x1

G3/8

A-A

VFLCEX3850M20X60

G1/8

G1/8

15—

M20x1.5

G3/8

-

Al—-

Vacuforce Edition 5.2 Page 1.136



®

ﬁCUFORCE

2
™
)
%)
14
Ll
a
-
O
an
0
>
O
=
>
>
T
<
>

becsnl B8 88000 HO00NAAO0ONRO06EA600] 3
<
< Y Y S
- e T LA S SR S o e
[==] e
— [==]
o =
S 5]
™~ o
~ @
0| ~ e}
w
5 (&}
< <<

VFLCEX3875M18X80

N ﬂ.?T__-‘.-.,_.ﬁ-_.-_ﬁ.?__,.._c __~__\__.-__.T_.J_)J..‘_,_!_

«©
=
—
o
| I |
.Enbb)b!babbﬁbblbbbbbndb)ba
W oooduUooo0oooooooovoog
|
- o -l
™ «
o)

45-120

a\uiujuluiaiaiujaiuiaiuiaiuiaiuiainaly

VFLCEXNR3875M18X80

=3 = 5

I KEf——.-.—_f.—.ﬂ_—_—b.—-f.i.—%

Vacuforce Edition 5.2 Page 1.137



2
™
O]
%)
14
Ll
a
-
O
a
o
>
O
=
=)
>
T
<
>

®

ﬁCUFORCE

e B8 88000 K00NAR0NAO060A600H]
<
< " 5y "
/ /l _/l U oo oo U ro oo VU oouoy
==} o
= [==)
15} =
- O
2 =
o
(U]
<C
<

VFLCEX3875M20X80

A Lo DEAOOAOASAALAANABANAAO00QARALA006.06I0
[
r
© S ToOUTTOUU DU DU OO OU oo UOoU0OT [oe)
= o
=] -
e o]
&
0
=
3

_E.j 1_5

It -,_ﬂ-—dﬂ-—a_.-g__— g-—ﬂ_———__—“._—#——g#—-—————ﬂ-ﬁ‘ -E_—_- —ﬁ———_

M18x1 /

VFLCEX38100M18X80

Vacuforce Edition 5.2 Page 1.138



®

ﬁCUFORCE

2
™
)
%)
14
Ll
a
-
O
an
0
>
O
=
>
>
T
<
>

ISDo BSDC

o
g © varava L re 2 . L v O v
€0 W T A e o e o e e H i < % g
=T <C
- 2 -l m = |
- 2 3
" A | . =
BRI, o o o o O
(e el —— il
< < g

VFLCEXNR38100M18X80
VFLCIN3850M18X67

Vacuforce Edition 5.2 Page 1.139



VACUUM CUP HOLDERS G1/2

YAcUFORCE’

VFLCEX1225M20X40
A-A(1:1)

A_‘I G1/8

R
40,0 19 g1
' l K
M20x1.5/ IS 4
1250 g >
g b
15-40 g b
i 2 :
g b
%L%
(}\E Y
e
Y ==\
gl o [ o1
G1/2
A-A
VFLCEX1250M20X60 A“' # G1/8
[
15 1
¢ NI
60 gy [
M20x1.5/ S ;
=
191§ b
4 B
9 3
9 3
36-86 4] [p
4| [B
9 b
H [
Q 18
9 b
4 b
/
G112 G1/4
814

A
Optional
Vacuum Port G1/8

Vacuforce Edition 5.2 Page 1.140



VACUUM CUP HOLDERS G1/2

YAcUFORCE’

AA
VFLCEX1275M20X80 A 15 G1/8

i
e
| )

§

M20x1.5

245

45-120

T

_—,

WL

i\

— Optional
I| Vacuum Port G1/8

PO O OOLOA0OoOoRO0ORPEROR0oad
e e A B AR b

‘Ill|'||‘.“|‘u‘\.|'||1m|I

fRL

G1/2 G1/4

N

Vacuforce Edition 5.2 Page 1.141



VACUUM CUP HOLDERS

VACUFORCE

The Vacuforce cup holders, often referred to as level
compensators, are normally used on multiple vacuum cup
systems such as sheet or plate handling where the height of the
load varies during production cycles. These cup holders have
been developed with the best materials to offer maximum life in
the toughest applications.

Materials

* Hard anodized aluminum thread fittings

* Nickel Plated bushings and lock nuts

* Hard anodized aluminum or chrome plated steel rods

Buffer Stroke (mm) Model Style
KE | External || 5 M5

Kl | Internal

11.5

o« Lo
|
d
< <
» 0
a3 -]
KE5 10 —-A12 KE5 10| -Y-A12
{rmm) (mm)
Buffer stroke A L Buffer stroke A L
10 18 525 10 18 64
20 28 B2.5 20 28 74

Vacuforce Edition 5.2 Page 1.142



7))
14
LU
o
-
©)
I
o
=)
&)
=
-]
-]
(&)
<
>
L,
=

®

ﬁCUFORCE

a=8
512
B 8 1

KI5 (06] -R-A8

KI5 [06] -A10

(mm)

42

75

B

15

44 | 90

A

10
25

Buffer stroke

10
25

75

B
15

A

10

Buffer stroke

10
25

al d W ]

S=8

514
S

M1Q4..|‘\§"
7

-
ﬁﬁf//ﬁ L

Lot

M5

KI5 (15) -V-A10

KI5 [06) -S-A8

(mm)

(mm)

{mm)

43

75

73

ga.s

7

B

19

23 | 27

38

A

15
20

25 1415

Buffer stroke

38
71

20
25

B
15

A

10

Buffer stroke

10
25

73
88

A,

10
25

Buffer stroke

10
25

S:Width across flats

Vacuforce Edition 5.2 Page 1.143



VACUUM CUP HOLDERS

VACUFORCE

The Vacuforce cup holders, often referred to as level
compensators, are normally used on multiple vacuum cup
systems such as sheet or plate handling where the height of the
load varies during production cycles. These cup holders have
been developed with the best materials to offer maximum life in
the toughest applications.

Materials

* Hard anodized aluminum thread fittings

* Nickel Plated bushings and lock nuts

* Hard anodized aluminum or chrome plated steel rods

Buffer Stroke (mm) Model Style
KE | External || 5 M5

Kl | Internal

11.5

o« Lo
|
d
< <
» 0
a3 -]
KE5 10 —-A12 KE5 10| -Y-A12
{rmm) (mm)
Buffer stroke A L Buffer stroke A L
10 18 525 10 18 64
20 28 B2.5 20 28 74

Vacuforce Edition 5.2 Page 1.144



7))
14
LU
o
-
©)
I
o
=)
&)
=
-]
-]
(&)
<
>
L,
=

®

ﬁCUFORCE

a=8
512
B 8 1

KI5 (06] -R-A8

KI5 [06] -A10

(mm)

42

75

B

15

44 | 90

A

10
25

Buffer stroke

10
25

75

B
15

A

10

Buffer stroke

10
25

al d W ]

S=8

514
S

M1Q4..|‘\§"
7

-
ﬁﬁf//ﬁ L

Lot

M5

KI5 (15) -V-A10

KI5 [06) -S-A8

(mm)

(mm)

{mm)

43

75

73

ga.s

7

B

19

23 | 27

38

A

15
20

25 1415

Buffer stroke

38
71

20
25

B
15

A

10

Buffer stroke

10
25

73
88

A,

10
25

Buffer stroke

10
25

S:Width across flats

Vacuforce Edition 5.2 Page 1.145



VACUUM CUP HOLDERS

VACUFORCE

The Vacuforce cup holders, often referred to as level
compensators, are normally used on multiple vacuum cup
systems such as sheet or plate handling where the height of the
load varies during production cycles. These cup holders have
been developed with the best materials to offer maximum life in
the toughest applications.

Materials

* Hard anodized aluminum thread fittings

* Nickel Plated bushings and lock nuts

* Hard anodized aluminum or chrome plated steel rods

EX

Spring Type Non- Rotating Cup Connection | Buffer Stroke (mm) | Bulkhead Thread
EX | External Rotates
IN | Internal || NR | Non- Rotating || 18 G1/8
14 G1/4
38 G3/8
12 GI2 AR M
LTh
AF20
- HIER
30
AF11.5 ‘
M16 x 1 =
M10 x 1 AF14 ~——1G1/8 .
AF7 —M5 | ] E "
7\ N e
AF14 N N . s R 123
ggi AF20 é§§ =N g9F
§§§ 23.0 g:§§ g * 9f
ZINN \ ® o~
?§§ él§§ 35 % > 3
A A :
/ %'%i 80 *
75.0 AF14 | é:%i NP
7N\ ®
é‘&‘ , N
] T Ne
§ % AF15 T %L_
2 AL
S 3 S
b 1
/ M5
. Vacuum Port
A T \
L’Lms L,L,Mf; ‘ ‘ M5
~———G1/8 ———G1/8
VFLCINM515M10 VFLCIN1820M16 VFLCEX1850M14

Vacuforce Edition 5.2 Page 1.146



YAcUFORCE’

M20 x 1.5
G1/8
AF1T7. —6.5
AF24
40
AF18
95

a3

£8

’)

| |

67

G1/4

VFLCEX1425M20

AF22

M18 x 1

|-—I-|»7G 1/8

AF16

AF22

Q|

e e e iy

¥ 152

Stroke 50mm:

L——L—m /8

G3/8

VFLCIN3850M18

VACUUM CUP HOLDERS

M20 x 1.5
G1/8
AF17 —B.5
AF24
40
AF18 ‘ |
\\
? 3 95

Stroke 10 -35

67

G1/4

VFLCEXNR1425M20
(non rotating)

M20 x 1.5
G1/8
—6.5
AF24
40
AF18
% 104.5
E
" E
g%
=1 <2
¥ o
L= &
AF22 | = l
L 11] o
|"L7G118
G3/8
VFLCEX3830M20

Vacuforce Edition 5.2 Page 1.147

M20 x 1.5
G1/8
—6.5
AF24
40
AF18
\@
% 104.5
E
=] E
g%
=1 22
A<
= | &
AF22 | l
[ | 1] (o
|‘-*L*G1/8
G3/8
VFLCEXNR3830M20

(non-rotating)



®

ﬁCUFORCE

7))
14
LU
o
-
©)
I
o
=)
&)
=
>
=)
O
<
>

240

(23018 WWOY) 0Z1L-0F

M20 x 1.5
80

AAMAMIHITIEIIDIITIanhiti e

NN

G172

AF17

AF24
AF24

G1/8
Vacuum Port

o

|——— L—c;1 14

o~

M20 x 1.5
0

(axons wwog) 0Z1-0%

G1/2

L——L—G 1/4

G1/2

L7G 14

<
5
aDl <
= E
o 3
[*]
M
>
wn
- 2
x
© 2 R 3
M,m 7 7
|
ﬁ ,
]
1)
Sﬁ ~ Sﬁ A
~ o~ = <
[V [N
< % < m

VFLCEX1280M20-80

VFLCEX1280M20

VFLCIN1250M18

Vacuforce Edition 5.2 Page 1.148



